180 Chapter 4 The Mathematics of Inflation & Depreciation

4.3 Exercises

@ Glaciers In Exercises 1-6, use theinformation below. (See Examples1and 2.)

The size of aglacier is measured in the same way o o5 1 Kilometer
asland, in acres or hectares. In 1900, the size of a | \ |

glacier was about 320 hectares. Between 1900 and
2000, its size decreased by about 14% per decade.
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1. Write aformulathat represents the size of the

2. Make atable showing the size of the glacier at the
beginning of each decade from 1900 to 2000. ‘

3. Sketch agraph showing the decrease in the area of .

the glacier from 1900 to 2000. !
4. Use the graph in Exercise 3 to estimate the area of 2765, o R
the glacier in 2000. dwards ]

Mountain

5. A generd ruleisthat amoving piece of ice and snow
iscaled aglacier when itssizeis at least 10 hectares.
Assuming the trend continues, when will the glacier
be too small to be considered aglacier? T

6. Suppose that arecent study predicts that the glacier will be completely melted by 2040.

a. Doesthis prediction agree with your answer in Exercise 5? What does the research suggest about
the melting rate of the glacier after 20007

b. When do you think an exponential model would be appropriate to model glacial melting?
When do you think alinear model would be appropriate? Explain.

Sperry Glacier in 1913 (top) and 2008 (bottom). The more recent image shows how the glacier has diminished and separated
into smaller pieces. Recent studies indicate that there may be no glaciers left in Glacier National Park by 2030.
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